Figure 3.5: Schematic setup of forces in part 1 (for the case m1 < m2)

- With the use of a third pulley and a third hanging mass find the
magrﬁmde and direction of the equilibrium force that returns the ring to
the equilibrium position. This third force is called the balance force; it is

equal in magnitude and opposite in direction to the resultant of the two

forces.

V. DATA ANALYSIS - PART 1

Find the resultant of the above two forces (magnitude, R and direction, Or)

by:
a) Experimental method (Force Table)
Igalance force (B)= 25 xg= 0025 N |6s= 24¢°
Fiesultant ®R)= 125 xg= 2.0 i, N |6r= 84

b) Method of Components
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Jlow the rules explained in

/) G phical Method |
c)Forr:.lhis section, use the plot sheet pelow. Fo
the introduction of this manual.
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; 1. Follow the -
¥ ; . procedure in part1 above to find the resultant of
(,_\, orces with directions as shown in Figure 3.6 Tk
€ 0.0.
\ Use thg TNasses i, my, and ms (provided by your instru
- . - mS
Fill in the table below. i
F=w= ﬁﬁg S bl N 01 =25
....... 1=
F = = 25 = = ‘
y=w2=mg=..l:5........... N 62 = 360
FBr=ws=tag=...Tccc....... N |6=|y,s

Figure 3.6: Setup of forces in part 2.
(The angles you will use are not necessarily the same as in the figure)

/ VIL Data Analysis - Part 2
1. Find the resultant of the above three forces (magnitﬁ'de,mﬁ,' and

direction, OR)

a) Experimental method (Force Table)

Balance force (B) = | M9 x g= . Jalonecnne. N [es=172° J
= / 5 = b '.7.’..‘: ............ N Or = 2
Resultant (R) 16, xg=.. -4 r= 352 ‘\
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c) Graphical Method
~ Use the graph sheet on the next page. Follow the rules explained in the

introduction of this manual. *

/2. State and discuss three sources of error in this experiment.
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